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(+71) .

WE (1) iRz &R » B R~ X1~ Xoy~ X ZIADiEE R 2Q » RIER P ERDL X,

W it BB R A/ N B fe 2

(A)5V

(B) 15V R

(C)20V +

(D) 30V 2020°v(Y) —[Xa -"X@
B(=+)




CARC IR~ Ve i R S

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

WE (= +—) FonZ &8s > EAIERZIIREE 0.6 - Xp=6Q » RIIEELZ R Kf ?
(A)8Q
(B) 12Q +
(©) 150 v() Q) %R 3 x
(D) 18Q - -
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B 3SHEIEv(1)=100+/2 sin(3771— 10°) VHLER &, » FEEETTI(1)=10/2 sin(3771+ 50°)A »

At S #AY TR P RETHER Q 43 Bl Ryfa] ?
(A) P=1000W > O=500 VAR (ZEREE) (B) P=1000W > O=866 VAR (M)
(C) P=500W > 0=500 VAR (BEZEM) (D) P=500W > 0=866 VAR (%)

W ( =+ ) s RLC A#EER » v (1)=100~/2 sin(377/)V » B#R=6Q > X;=8Q
Xc=5Q » RIG#EAYTEETTHR P B TR O 737 Ryfe] ?
(A) P=600W » O=1200 VAR (B M)

(B) P=866W » 0=1600 VAR (BBZE M) + R
(C) P=600W » 0=600 VAR (M) "(’)_@ %
(D) P=866W » O=866 VAR (ZEi4) B (—+—)
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(O) HERREHREER - &L/ C ZHERA > RIERZS T InER g A
(D) BB Z LIRS RIARN B 2E A

A — RLC HHEERE - A v(1)=10sin(10007) V Z B » ERIR=5Q » C=20pF » H{#E
BIRERSEI R/ INERE - BIERL R ?

(A) SmH (B) 0.05H (C)0.5H (D) 0.8H

H— RLC SEIBHEIRTER - BERSORTEIR » SILERIERERR | Kz - JAERE R SOHz »

B EISABULRRE 2 BRI B S00W - RIISERSTEE IR < SEE HFEDh =R Kefa] 2
(A) 250 W (B) 500 W (C) 1000 W (D) 2000 W
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(A) L6415 » 1.6 FLFF (B) 1.6 x 10744 » 1.6 x 107 FLFF

(C) 3241 » 3.2 F4%F (D) 3.2x107 7 44 » 3.2 1077 F A

BH—REE 10 AFKZBEUKES » BHESE R 100V /10 A » KR K 10°C » FEDIFHE XS
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(A)96.4°C » 158 (B)964°C » 58  (C)864°C - 5/E®  (D)86.4°C » 1£HE#
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(©) Vas(otry= Vab(on) 20 300 120 30
(D) Vab(otn=0.5 Vab(on) | 20
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(A)36V > 54A 1852
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